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Is the point (3, 4) a viable solution?
1:‘\'3’ Is the point (6, -5) a viable solution? 1.4

Is the point (-6, 4) a viable solution?
Is the point (8, 5) a viable solution? W43 ( 5UL3C>
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Is the point (6, 3) a viable solution? Y \0
Is the point (4, 0) a viable solution? _ NES
Is the point (0, 4) a viable solution? _ W&

Is the point (4, 0) a viable solution?

Is the point (-1, -2) a viable solution? | %(A
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Name a point that is viable to the system.{ \5 ; 0>

Name a point that is NOT viable to the system. 0 ) 8 )

Name a point that is viable to the system. no M

Name a point that is NOT viable to the system. O\JMES




